
                                                                                                                                                                                
 

10 9 8 7 6 5 4 3 2 1 Item 

          Choice 

 

Q1:  Choose the Correct Answer (And Fill the Table Blew)                    (10 Marks, 1 For Each ) 

(1)𝑇ℎ𝑒 𝑉𝑎𝑙𝑢𝑒 𝑜𝑓 ∫
1

√𝑥
 𝑑𝑥 =  …

4

1

 

  (a) 4                               (b) 2                               (c) 1                                  (d) 𝑢𝑛𝑑𝑒𝑓𝑖𝑛𝑒𝑑   

(2) Given The Initial value problem    
𝑑𝑦

𝑑𝑥
= 2𝑥 + 1 , 𝑦(0) = 3   Then  :   

(a) 𝑦 = 𝑥2                  (b) 𝑦 = 𝑥2 + 𝑥             (c) 𝑦 = 𝑥2 + 𝑥 + 3         (d) 𝑦 = 𝑥2 + 𝑥 − 2       

(3) The  value of   𝑥⋆  that satisfies the mean value theorem of integration , for  

𝑓(𝑥) = 2𝑥 − 3  𝑜𝑛   [1,5] 𝑖𝑠 is  

(a) 0                                  (b) 7                                (c) √3                               (d) None of them 

(4)  
𝑑

𝑑𝑥
∫ 𝑠𝑖𝑛2𝑡 𝑑𝑡

𝑥

0

=  … … … .. 

(a) 𝑠𝑖𝑛2𝑥                          (b) 𝑐𝑜𝑠2𝑡 + 𝑐                 (c) 
1

2
sin(2𝑡) + 𝑐                    (d) 𝑁𝑜𝑛𝑒 𝑜𝑓 𝑡ℎ𝑒𝑚                

(5) ∫
𝑑𝑥

𝑥√𝑥2 − 4
=  … … … … … … … … …. 

  (a) 
1

2
 𝑠𝑖𝑛−1 (

𝑥

2
) + 𝑐        (b) 

1

2
 𝑡𝑎𝑛−1 (

𝑥

2
) + 𝑐       (c)

1

2
 𝑠𝑒𝑐−1 |

𝑥

2
| + 𝑐             (d) None of them 

 (6) To Solve ∫ 𝑠𝑖𝑛3 𝑥 .  𝑐𝑜𝑠2 𝑥    𝑑𝑥  , 𝑊𝑒 𝑢𝑠𝑒 ∶  

(a) 𝑢 = 𝑡𝑎𝑛 𝑥                    (b) 𝑢 = 𝑠𝑖𝑛 𝑥                  (c) 𝑢 =  𝑠𝑖𝑛 𝑥 𝑐𝑜𝑠 𝑥          (d)  𝑢 = 𝑐𝑜𝑠 𝑥 

(7) The arc-length of the curve 𝑦 = √3 𝑥 , Between 𝑥 = 0 𝑎𝑛𝑑 𝑥 = 2 is  

(a) 2                                  (b) √3                              (c) 4                                   (d) √2 

(8)If  ∫ 𝑓(𝑥)𝑑𝑥 = 12 , 𝑇ℎ𝑒𝑛 ∫ 2𝑓(𝑥)𝑑𝑥 =  … … … … … … … … .
3

8  

8

3

 

  (a) 24                                   (b) 12                                 (c) − 12                                (d)  − 24 

(9)𝑇𝑜𝐸𝑣𝑎𝑙𝑢𝑎𝑡𝑒 ∫
𝑥3 − 3𝑥

𝑥2 + 4𝑥 − 7
𝑑𝑥 , 𝑊𝑒 𝐹𝑖𝑟𝑠𝑡 𝑈𝑠𝑒 … … … … … … … … … … 

(a) 𝐿𝑜𝑛𝑔 𝐷𝑖𝑣𝑖𝑠𝑖𝑜𝑛          (b) 𝑃𝑎𝑟𝑡𝑖𝑎𝑙  𝐹𝑟𝑎𝑐𝑡𝑖𝑜𝑛𝑠   (c)  𝐿𝑜𝑤𝑠 𝑜𝑓 𝑃𝑜𝑤𝑒𝑟         (d) None of them 

(10)𝑇𝑜 𝐸𝑣𝑎𝑙𝑢𝑎𝑡𝑒 ∫ √𝑥2 − 4 𝑑𝑥  𝑊𝑒 𝑈𝑠𝑒 ∶ 

  (a) 𝑥 = 2 𝑡𝑎𝑛 𝜃                (b) 𝑥 = 2 𝑠𝑒𝑐 𝜃                (c) 𝑥 = 2 𝑠𝑖𝑛𝜃                      (d) None of them 

 



                                                                                                                                                                                
 

Q2 : Evaluate Each Integral  :                                                        ( 24Marks , 4 for Each ) 

(𝑎) ∫
2

𝑠𝑒𝑐𝑥
 𝑒𝑠𝑖𝑛𝑥 𝑑𝑥                                                            ( 𝑈 − 𝑆𝑢𝑏𝑠𝑡𝑖𝑡𝑢𝑡𝑖𝑜𝑛) 

                                          

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

………………………………………………………………………………………………… 

(𝑏) ∫ 𝑐𝑜𝑠−1 𝑥 𝑑𝑥                                                             ( 𝐵𝑦 𝑃𝑎𝑟𝑡𝑠) 

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

………………………………………………………………………………………………… 

 

(𝑐) ∫
 𝑑𝑥

𝑥2 − 6𝑥 + 10
                                                        ( 𝐶𝑜𝑚𝑝𝑙𝑒𝑡𝑖𝑛𝑔 𝑡ℎ𝑒 𝑆𝑞𝑢𝑎𝑟𝑒) 

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

………………………………………………………………………………………………… 



                                                                                                                                                                                
 

(𝑑) ∫
𝑡

√4 + 𝑡2
𝑑𝑡                                                             (  𝑇𝑟𝑖𝑔𝑜𝑛𝑜𝑚𝑒𝑡𝑟𝑖𝑐 𝑆𝑢𝑏𝑠𝑡𝑖𝑡𝑢𝑡𝑖𝑜𝑛) 

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

………………………………………………………………………………………………… 

 

(𝑒) ∫ (2𝑥 + √9 − 𝑥2 ) 𝑑𝑥
3

0

                                                              (𝐺𝑒𝑜𝑚𝑒𝑡𝑟𝑖𝑐𝑎𝑙𝑙𝑦) 

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

………………………………………………………………………………………………… 

 

(𝑓)  ∫
3 𝑑𝑥

1 + 𝑥2

0

−∞

                                                                                      ( 𝐼𝑚𝑝𝑟𝑜𝑝𝑒𝑟 ) 

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

………………………………………………………………………………………………… 



                                                                                                                                                                                
 

Q3- Answer the following :                                                                     (6+5+5Marks) 

(a)  Find the Area Between 𝑦 = 4 − 𝑥2 , 𝑎𝑛𝑑   𝑦 = 𝑥 + 2  

 

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………. 

(b) Find the volume of the solid that results when the shaded 

Region is revolved about the X- axis. 

………………………………………………………………

………………………………………………………………

………………………………………………………………

………………………………………………………………

………………………………………………………………

………………………………………………………………

………………………………………………………………

………………………………………………………………

………………………………………………………………

…………………………………………………………………………………………………

………………………………………………………………………………………………… 

(c) Find the arc length of the curve 𝑦 =  𝑥
3

2⁄   from  𝑥 = 1 𝑡𝑜 𝑥 =  8 

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

… 

End of Questions  


